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�������� v = p/
√

p2 +m2 �	 
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�� ��� ���
����	 ��� 1− v ���� �� 2× 10−7 �

��� �� �� ����	
����	
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�� ���� ���	 �������� ����	 ��� 
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• ���� ��� !"#$ 
 %��
�& ����' ( $$) 
 %	�����'� 〈E(π)
ν 〉 = 25 *�+� 〈E(K)

ν 〉 = 75 *�+,-

|vν − vμ| < 4× 10−4 (99% .���)

���  !�"�#��� �� ���� ����� ���� ����� �� ����$� %���

• ���� ���� !"#$ 
 %��
�& ����' ( $$) 
 %	�����'� E
(π,K)
ν = 30 �� 200 *�+,-

|vν − vν | < 7× 10−5, |v(K)
ν − v(π)

ν | < 5× 10−5, |vν,ν − 1| < 4× 10−5 (95% .���).
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• �//� ���$
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• ����01234�� %/��21 ������
���' 5))� !�"# �
� 〈Eν〉 ∼ 3 *�+� Eν � 120 *�+,-
δ� = (126± 32���� ± 64���) �	 (68% .���),

⇓ (?)

(vν − 1) = (5.1± 2.8���� ± 0.30���)× 10−5 (68% .���).
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6�� 
����	������7 ��8 
������
� ��
�� �� ��� 	���� �� ��� �������� �	

−2.4× 10−5 < (vν − 1) < 12.6× 10−5 (99% .���).
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���
� �� δv/v � 4× 10−7� ��� ���	� ∼ 1 
� �∼ 29.4 ��� ��� ��
���� ���
� ����	��� �


�	�
��� �
� ���� ������	�� ���
��
� �	 ����	���
� ����

����
 ������ �� ��� ��	 �������	�

���  *	+��
 �� ��� �,-./0 1�!!	'��	���
� ����� ���� 2 �� �344�� 4�344��

� ��� �����	
�

� /��21 
��	���	 ��� �9	����� ����	�� ��
� �� �� ��	�
9�� �� ��������	� �� < 100 �	

�

���
&� 9& 
�
�����7 ν ����:�� ��
�	 �� ��� ���� ����
��� %�4' ��� ��� ����
��� %�4'�

6�� ��	���
� 9������ ����� ��
� �� ��� �4 ��� ��� 
����� �� ��� �4 �	 734298.6± 0.7 
�

� 6�� 9��
 ;�:�� 
������- 93% νμ� 6% νμ� 1% νe + νe �� �4� ����� �	
�������7� ���

9��
 �� �4 �	 �������
����& 60% νμ�



• .<��0��*1 %2=<�� ������
���' 5)�� !�") �
� 〈Eν〉 ∼ 17 *�+� Eν � 350 *�+,-
δ� = (60.7± 6.9���� ± 7.4���) �	,

⇓ (?)

(vν − 1) = (2.48± 0.28���� ± 0.30���)× 10−5.

���  *	+ �� ��� �/�)� 1�!!	'��	���
� 	�5��6��4��7%�� ���"8�9� �0�"��+'�� 3�� 34����
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ν 9��	� ���
 1���A�� %B�
�������0��� �/C� C316'

!≈ 51 ��	� 〈Eν〉 ∼ 15 /�+� Eν � 40 /�+,-

|vν − 1| < 2× 10−9.
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 	� �� ��	��
 � ��� ����
�� �� ������� �� �
 ��������

���  !"�# ��� ������� 	�
� �� 	�� $��	 ��%�	 ���
 &' �� ���� ���� �
��
# ��� ���	 ��
$�
�� �����
�� ��


� �(	���� ���%�	�
�
% ��� �	 �((��)�
�	��� ���� ���# ��� �������	 �������	��
� �� �(	���� ���%�	�
�
%

���� �	  ���" �� �� *����� �
� �� +�'��%�	�#

&	�
���� &' 	����� �)(��	� 	��	 	�� 
��	��
�� �
� �
	�
��	��
�� ��� �
�		�� �
 	�� $��	 ��� ����
� ��

	�� �����(��� ����� 	�� �(	���� ��	����	 ��%�
� ∼ 1 � ��	��� ���
 	�� ������ �
����(� �� ����
 ����#

,�	�%�	��� 	��� ����� 	� �
 �
���	��
	� �� ����	 3 �# -�
��

|vν − 1|max ∼ 3 �/(1.6× 105 × 365× 24�) ≈ 2× 10−9.

�.# &���	�
� .�, /������� '�# ����� !"�#

�*# *������� .�, /������� '�# �� 0�  !"�1 2# -# +�'��%�	� ����#
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• ��
�
9�� �9��� ��� ��	� ���0����7& %Eν = 7− 11 /�+' ���	� ����
��� 9& �14� ��

5-$5-" 36 ���� �	 4�44� ������� ��� 	�
��� %B�
�������0��0�/C0C316' ���	��
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�
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���7�� ���� � � %���
 � ��� ����	 �� � ��� ��&	'�

• 6�� 	�
��� ���	� 	�7��� 	���	 � ��
9�� �� D���
����	E� ��� ��	���
��

∗ 	�� �����%� νe �
��%��� �
������ ���
 	�� .+3 �
� 4�
����
�� �������	��
� ��� 5��	� ��6���
	1

∗ 	�� ���%� 	�
� %�( ��	���
 	�� $��	 " �
� 	�� ���	 � 4�
����
�� ���
	� ����� �������
�1

∗ 	�� ���	����	��
 �� 	�� (���	��
� ������ �� ���	��(��� ��	 �� ���
� 	� �� ��%
�$��
	�� (����� ����
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 	�� �����	��
 �� 	�� &'#

�� ��� �9	��
� �� ����� �����������	� ���	� �������	 ��� 9��
�� �� 	����	��
�� ;�
�������	

�� ��� 	���	� �����

4�� �� ���	� ���9�	 ���7�F	 ��
�� �	 7�������& ��� ��9�	��

����� �
��������
�

�		�
��7 ���� δv �	 ����7& ����������� ��� δ�L=730 �� = 60.7 �	 %2=<��' �� �9����

δ�	
��
�� ≈ 4 &�.
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ψ∗
ν = eiEν(x0−vνx)−σ2

νΓ
2
ν (x‖−vνx0)

2−σ2
νx

2
⊥ . !#"
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〈x
κ
〉 = x̃

κ
+ v

κ
x0
κ

���
���	�� ������� �������� ��
 � ���	�� ������ !∝ 1/σ3
κ
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σ2
ν ≈ m2

ν

(
m2

a

σ2
a

+
m2

μ

σ2
μ

)−1

, a = π �� K.
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 ���
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 ���� σν ��
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��	
�� ��� ������	�� ���
	�	��


σ2
ν � m2

ν

(
mμ

Γμ
+
ma

Γa

)−1

,

����� Γa = 1/τa ��
 Γμ = 1/τμ ��� ��� ���� 
���� �	
��
 �� ��� ��
�� a ��
 �����

'��
	
��	�� ���� ��� ��� ���� ��
�� mμ/Γμ � ma/Γa� �� ������
� ����

σ2
ν/m

2
ν � Γμ/mμ ≈ 2.8× 10−18. !("
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��,
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Γν

� 10−2
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10 +�*
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)
μ�,

,� ��� �����	�� ���������� ������
 �
 � ���� ��� 
������� 
	
� �� �	���
���	� !������


����
���" ��	����

 	� ����	��
	��� 
	����	��� ���������� �	�� ��� ��	����

 �� �


���������� 
�	�� ��
 �����
���	����� ����� !������ 	�
����
���" 
	������ 	� ���

����
���
� ����� �



����������� �
��	�����
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��� �������� ��:���
���	 ���� ����:� �� ��� �����	 C ��� 4 	�
��������	�&� ����� ��� 	�7���

���
 ��� �������� ��:���
��� %	���� �	 �� �����
��& �9���� 	�������' ���
� 
�:�	 ����� ���

��7�� θ = ∠C�. �� ��� 9��
 ���	 ���� ����:� ������� 	��
� 4< > 0� �������� :���
��& :�
��� vν

���	 �� ��� ����� �� ��� �7���� =���������	 �� ��� 
�����
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��7 ��
� �	 7�:�� 9&

δt = L (1/ cos θ − 1) ≈ r2/(2L). %"'

I��� �� �		�
� ����

%�' 1− vν ≪ 1�

%��' ��� �������� ��:���
��� �?�
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J��� �	 ��� ���9�9����& �� ��� � �������� �� � ��	���
� r ���
 ��� 9��
 ���	K 6��	 
���� 9�

�	��
���� �����7 ���� �

���� ���� �������� �����
���� �	 ��
������ 9& ���0�����
�� ��
�&	 ��

����	 ��� ����	� 6�� ��7���� ��	���9����� �� 
�		��		 ��������	 ���
 ���	� ��
�&	 �	
dI

dΩ
=

1− v2a
4π(1− va cos θ)2

≈ 1

π(1 + Γ 2
a θ2)2

. %#'

I��� θ �	 ��� ��7�� 9������ ��� 
�
���� �� ��� 
�	�� a ��� �������� %0 ≤ θ ≤ π'� va �	 ���


�	�� :���
��&� ��� Γa = (1− v2a)
−1/2 = Ea/ma� 6�� 	�
��� �������
��� �@�����& �� <@� %#'

����	 ��� 	
��� ��7��	 ��� ������:�	��
 
�	�� ����7��	 %θ � 1� 4Γ 2
a 	 1'� �� ��� ������ 
�	�� ���


��� 
�����9����� �� ��� �������� �:��� ���� 
�
�	 ���
 ��� ������ 
��� θ � 1/Γa�

.��	������7 ���� ��� 
��� �������� ����7&� Eν � ���
 ��� 
����
 ��
�& �� � 
�	�� ����

����7& Ea �	 Eν = ΓaE
(a)
ν � ����� E

(a)
ν = (m2

a −m2
μ)/(2ma) �	 ��� �������� ����7& �� ��� ��	�

���
� �� ��� �����
�� a� ��� 
����
����	��
 ��7�� 
�� 9� ������ �	 θ(a) = E
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%Eν > 20 *�+� Eν ≈ 42.9 *�+'� �		�
��7 ���� ��� 
��� �������� 	���
�	 �� ���	� ���7�	 ����

��	��
��:��&� πμ2 ��� Kμ2 ��
�&	-

θ�� � θ(π) = 2.1× 10−3, θ�� � θ(K) = 5.5× 10−3.
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